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The Sig Fig Rules

1) All non-zeroqumbers... ave COV\S\‘}\{(CA
St o
Ex: 321 has _3_ sig figs

i Examples: How many sig figs are in each number?

1)1500 ) 2) 20214’ 3)0.34) 4) 0.0039 L

i 5) 50 000 6) 0.800 7)0.000360 8)1200.00

6

2) Zerjes that occur...A\%\h a‘(é

Ex: 1001 has_Lf_ag;sYOS _{.o ‘ﬁm (
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Ex: 5200 has I sig figs
4) Zeroest the left... ‘“\‘*Q (E" d‘
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Ex: 0.0085 has sig figs
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Ex: 0.2500 has sig figs ﬁ‘ 3V\
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Multiplying and Dividing

e When multlplylng or dIVI in oﬁ
answer is ;ways ! ('OQ. $\1Q%S _

Ex: 350x115— H(OXIO

200.0 x 150 = ?MOXIOg
g % >

0.002695 x 100 = 0 3
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Adding and Subtracting

¢ When adding or subtractmg numbers ou flna

iswer is always %‘A

25 +57.65 = ?g
0.68§1—o.33,7=0,3 Lﬂ‘
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5.024-501= () .0 |




Worksheet 1.3 — Significant Figures

1) Counting sig figs: write down the number of sig figs each piece of data has:
a) 0.0021 m ,7\ d) 410 kg &
b) 200,000 m* | e) 000025 |
¢) 21.200s D) f) 91.0001m* (5

2) Multiplication with sig figs:

a) 92.45m-1.01m= qalﬁ[ W\’L e) 0.00698 m?-100cm = (7, ;L Uh'ml
b) 0.0024N-4.24s= O -0 lO N'S f) 2001 kg - 12.6 m/s = 9.‘—3&00 4‘6'”\/5
¢) 4000 kg - 2.001m/s  FOPO Kﬁm/f g) 610N-40025= Q) 0 000 NS
3) Division with sig figs:
a) 12m=312s= 0.0F Mg d) 1800kg 4105~ L of Yy
b) 69.4 kg + 38.888 s = l.?‘g Kd/j e) 0.102 m + 100 ms = G-OO [ S -
c) 0.012 m”>+0.0002 s = GO M1/5 f) 1001 m®+ 40 ks = ?)O m}ﬂf

4) Addition and subtraction with sig figs:

a) 14m+122m = 9~YY\ d) 69.455+19.3s= WYS
b) 0.012 kg + 1.0046 kg — 0.0064 kg = l 0l O(jf) 200.1 m-128.28 m = :7// g Q\W\

o) 12.46 kg +9.82 ke~ 6.666 ke = (5 [Kg_

5) Chain calcs with sig figs: write down the number of sig figs each piece of data has:

a) (0.045m -9.92kg)+16.86s = . K
045+ 1uts O 0T Ky

)
b) (900&.—8-50()01;)1-L10.20§-m= 40 OOO W\3

¢) (0.21m-6.235s)-1.002m = 7
[LY xLooZ /ﬂém .S

d) (18.01m-0.41m)+(14.62kg-12s) =

FYmtT 1904 =004l Mz/(ﬂj



